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                       Epreuve du 1er groupe 
 
 

A N S W E R    K E Y 
 
I-READING COMPREHENSION   (8 marks) 
 
A° Looking for information              (2 marks) 
 

1. Rising tobacco use in developing countries.    
2. Better diagnosing of cancer. 
3. The downward trend in infectious diseases that used to be the world’s leading killers. 
4. An expected expansion of the  world population 

 
B) Matching:                  (3 marks) 
 

5 = F          6 = E              7 = D         8= A              9 = C           10 = B. 
 
C/ TRUE / FALSE:                 (3 marks) 
 
11. False: “…. More than double ……by 2030” (line 2) 
12. False: “An annual rise ……China, Russia an India.” (ll.9-10) 
13. False: “Few are aware……malaria and tuberculosis combined.” (ll.23-24) 
 
II  LINGUISTIC AND COMMUNICATIVE COMPETENCE (8marks) 
 
D) Find the questions:               (2 marks) 
14 a) How many are cancer diagnoses expected to hit? 
b) When are cancer diagnoses expected to hit 12 million? 
 
E Reformulation:                  (3 marks) 
 
15. People believe rising tobacco use is a huge reason for the shift. 
16. Peter Boyle said that was going to present an amazing problem at every society worldwide. 
17. Unless solutions are found, cancer will spread considerably. 
 
F) Word derivation:                 (2 marks) 
18. die. 
19. Healthy 
20. threatens 
21. researchers  
 
G) Sentence completion:                (1 mark) 
 





23.

22.
Any coherent and meaningful sentence will be accepted. 

 
III WRITING   (4 marks) 
 


